

BHARAT COKING COAL LIMITED

Dated: 17.07.2013

(A Subsidiary of Coal India Limited)
Office of the General Manager, Katras Area
P.O. Sijua Distt. Dhanbad – 828121

Ref. No. BCCL/GM/IV/Civil/Quotation /13-14/ 3911

QUOTATION NOTICE

Sealed tender in two parts (part-I & II) on overall percentage rate basis are invited from experienced and eligible contractors for taking up the following works:-

Sl. No.	Nature of Job & Location	Estimated Cost	Earnest Money	Cost of Tender Paper	Time of Completion
1.	Repairing the A.C.M. Office ,E&M Office store at 2 seam Ramkanali Colliery under Katras Area	₹ 62,157.59 /-	₹ 622/-	Nil	01(One) month

Availability of bill quantities – Begins on: 30 .07.2013

Closed on: **03.08.2013**

Date and time of receipt/opening of Quotation

The quotation will be received on 07.08.2013 from 10.00A.M. to 3.00 P.M. in tender box kept at

- i) Office of Astt. Commandant, CISF camp, Angarpathara in Box marked Katras Area.
- ii)CISF Post, near Koyala Bhawan gate, Koyala Nagar, BCCL, Dhanbad in Box marked Katras Area -
- b) The tenders received will be opened on 09.08,2013 at 11.00 A..M. onwards, in the office of Chief

Manager (Civil)/ACE, Katras Area.

Eligibility Criteria:-

- 1) The intending tenderer must have its name as a prime contractor experience of having successfully completed similar nature of job during last 7(Seven) years ending last day or month previous to the one in which bid applications are invited (i.e. from 01.07.2006 to 31.06.2013.) should be either of the following:-
- i) Three similar completed works each costing not less than the amount equal to 40% of the estimated cost.

OR

ii) Two similar completed works each costing not less than the amount equal to 50% of the estimated cost.

OR

- iii) One similar completed works each costing not less than the amount equal to 80% of the estimated cost.
- iv) Similar works Means: Construction/Repairing of building.
- 2) Average annual financial turnover of civil works during last three years ending 31st March of the previous financial year (i.e for, **2010-11, 2011-12 & 2012-13**) should be at least 30% of the estimated cost.
- 3) The bill of quantity can be had from the office of the Chief Manager(Civil), ACE, Katras , Dhanbad during the mentioned above Part-I shall consist of earnest money Tech. bid & credential. Part-II shall consist of Bill of Quantity duly filled in for rate amount etc.
- 4) Earnest money should be deposited with the Cashier, Katras Area
- 5) The Management of BCCL reserves right to reject any or all of the tenders without assigning any reasons what-so-ever and to split up and distribute the work among the tenderers.
- 6) It will be obligatory for the quotationers to keep their offers open for acceptance for a period of 120 days from the date opening of the tender the date of negotiation. Contractors have to acquaint himself with the condition before submitting the tender.

Continued on p/2.

Page-2

- 7) The NIT with general rules and reason for guidance of quotation or general special condition of as accepted from time to time will be part of the contract documents.
- 8)Contractors have to abide by the Central Labour Regulation Act.1970 & Allied Labour Laws amended upto date.
- 9) Tender without earnest money will not be considered.
- 10) Tender should also give details of their PAN & sale Tax Clearance certificate attested by Gazetted Officer.
- 11) No materials will be issued by the department for this work.
- 12) Declaration regarding genuineness of the documents submitted and no relationship in BCCL in original.
- 13) Declaration that they have not been banned or delisted by Govt. or Quasi Govt., Agencies or PSUs.
- 14) Minimum 20% unskilled workers are to be engaged by the tenderers from Projected Affected People.

Area Civil Engineer, Katras Area

Copy to:-

- 1. General Manager, Katras Area,
- 2. Addl. G.M., Katras Area,
- 3. AFM/APM, Katras Area
- 4. All Project Officer's, under Katras Area,
- 5. C.I.S.F. Post, near Koyla Bhawan gate, Koyla Nagar, BCCL, Dhanbad.
- 6. Asstt. Commandant, C.I.S.F. Camp Angarpathara
- 7. Sr. Cashier, Katras Area.
- 8. Manager (System), BCCL, Katras Area-along with a copy of NIT & a C.D. for above mentioned works for publication of the same in BCCL website.
- 9. Notice Board.

Bill of Quantity for the Work: - Repairing the A.C.M. Office ,E&M Office store at 2 seam Ramkanali Colliery under Katras Area

SI	Description of Items	Unit	Quantity	Rate ₹	Amount ₹
1.	Brick work (1:6) in F&P	Cum	3.71	3058.35	11346.47
2.	Brick work (1:6) in S/S	Cum	8.40	3293.76	27667.58
3.	6 mm cement plaster of mix : 1:3 (1 cement: 3 fine sand)	Sqm	18.00	101.00	1818.00
4.	12 mm cement plaster of mix : 1:6 (1 cement: 6 fine sand)	Sqm	86.90	112.50	9776.25
5.	25mm thick c.c floor (1:2:4)	Sqm	1814	207.69	3767.49
6.	Fixing chowkhats in existing opening including embedding chowkhats in floors or walls cutting masonry for holdfasts, embedding hold fasts in cement concrete blocks of size 15 x 10 x 10 cm with cement concrete1:3:6 (1 cement : 3 coarse sand : 6 graded stone aggregate 20 mm nominal size), painting two coats of approved wood preservative to sides of chowkhats and making good the damages to walls and floors as required complete including disposal of rubbish to the dumping ground within 50 meters lead :	each	4.00	600.10	2400.40
7.	Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architrave, holdfasts etc. complete and stacking within 50 metres lead: Of area 3 sq. metres and below	each	3.00	101.20	305.10
8.	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: One or more coats on old work.	Sqm	42.00	35.20	1478.40
9.	White washing with lime to give an even shade : Old work (two or more coats)	Sqm	250.00	7.05	1762.50
10.	Colour washing two or more coat	Sqm	190.00	9.66	1835.40
				Total ₹	62,157.59

(.....) % above /below/on the estimated cost (in words) (In Figure)

Signature of the Tenderer

Signature of the Officer (Issuing Authority)

Format for Tender Uploading at www.tenders.gov.in

Organisation Name: BHARAT COKING COAL LIMITED					
Organisation Type:	Public sector Undertakings Ministry		Ministry of Coal		
Tender Title(*):	Repairing the A.C.M. Office ,E&M Area	Office store at 2 seam Ramkar	nali Colliery under Katras		
Tender Ref.No(*):	Ref. No. BCCL/GM/IV/Civil/Quotation /13-14/3911 Dated: 17.07.2013				
Product Category(*	Repair & Maintenance				
Sub-Category:	Construction work				
Tender Value (INR	Construction work		Document		
`			Cost:		
if not mentioned) (*	5 CO 157 FO /	EMD:			
); (d))	₹ 62,157.59 /-	₹ 622 /-	nil/-		
Tender Type(*):	Open Tender				
Type of Bidding(*	Single Bid Two H	yes Three Bi	Four B		
<i>)</i> •	At Ramkanali Colliery under Katras	s Area			
Location(*):	The real features of the state	, 1100			
First Announcement	17.07.13				
Date(*):					
Public Date on Portal:	Automatic from System	At:			
Last date of	03/08/13	Upto:	N.A		
document					
collection(*):					
Last Date of	07/08/13	Upto:	3.00 PM		
Submission(*):					
Opening Date(*):	09/08/13	At:	11.00 AM		
Work Description(*	Repairing the A.C.M. Office ,E&M	Office store.			
):					
Pre Qualification:	As per NIT.				
Pre meet Bid Date:	•				
Tender	Yes				
Document(#):					
Corrigendum					
Document(#):					
Bid Document(#):					
Tech Document(#):					
Sector:	Coal				
State:	JHARKHAND				

Note: (*) * Indicates Mandatory Fields

(#) # Indicates that the file name should be given .it should match with the file name sent by email.

This is to confirm the softcopy of tender documents has been forwarded to EDP[dept through email edp@bccl.gov.in